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ELASTICITY
1.  10 kg  ,  0.3 m  ,  ,

;  (rad s–1 )  ?

 ? (  = 4.8 × 107 Nm–2 

 {  = 10–2 cm2 )

2.
 ;

 1 : 4 :

(1) 1 : 2 (2) 1 : 2

(3) 2 : 1 (4) 2 :1

3.  ; /; 500

nm  ,  15 

 ; /;  

[;  10  

(nm )  __________.

4.  ,  ?  4 GPa

(hydrostatic)  ?

 (percentage change) 

 %& (  % / ,

B = 8 × 1010 Pa)

(1) 0.6 (2) 1.67 (3) 5 (4) 20

5. m  , ]  L 

 A  ,
 ;  Y  ;
 [ + 

 :

(1) 
1 YA

f
2 mL

(2) 
1 YL

f
2 mA

(3) 
1 mA

f
2 YL

 (4) 
1 mL

f
2 YA
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Elasticity

SOLUTION

1. NTA Ans.  (4.00)

Sol. 2T m

Breaking stress = 
2T m

A A

7 2 4
2 4.8 10 (10 10 )

16
10 0.3

4

2. NTA Ans.   (4)

Sol.

W

L, Y
d1

W

L, Y
d2

2
StressEnergystored 1

Volume 2 Y

1
1 2

2

u 1
4u u

u 4

2 2

2 2
1 2

1 W 4 1 W 4
4

2Y 2Yd d

4

1

2

d
4

d

1

2

d
2 :1

d

 Correct answer (4)
3. NTA Ans.  (750.00)
Sol. The length of the screen used portion for 15

fringes, and also for ten fringes

D D
15 500 10

15 × 50 = 

 = 750 nm

 Correct answer 750

4. Official  Ans.  by NTA (2)

Sol. B = 

P
V

V

V P

V B

= 
9

10

4 10 1

208 10

1

3
 × 

V 1

V 60

Percentage change = 100%

                        = 
100

% 1.67%
60

5. Official  Ans.  by NTA (1)

Sol. An elastic wire can be treated as a spring with

YA
k

m
T 2

k

1 k 1 YA
f

2 m 2 m

Ans. (1)


